

11/15/2022 09:00 AM | Travel to Vegas 11/16/2022 08:00 AM | Install Begins 11/18/2022 06:00 PM | Encore Event 11/19/2022 06:00 PM | Wynn Event 11/20/2022 07:00 AM | Strike Begins 11/22/2022 09:00 AM | Travel to Los Angeles PO: Shipping Address: Encore & Wynn Hotels Las Vegas Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

escription		Qtty	Price		Total
dditions 11.1	1 for Wynn				
	NEW Tablecloth - Velvet 146"D for an 84" x 30"H table	6	\$575.00	T	\$3,450.0
	Custom Wooden Top 80"D to place ontop of T&C table base	2	\$125.00	Т	\$250.0
	Hand Props - Glass Cylinder Vase 12" 6"X12"H	20	\$20.00	Т	\$400.00
	Hand Props - Glass Cylinder Vase 16" 6" X 16"H	20	\$22.00	Т	\$440.00
	Candles - Led Batterie Operated Candle 6"	40	\$5.00	Т	\$200.00
	Hand Props - Glass Cylinder Vase 20" 6" x 20"H	20	\$24.00	Т	\$480.00
	Candles - Led Batterie Operated Candle 8"	20	\$5.00	Т	\$100.00
	Hand Props - Glass Cylinder Vase 24" 6" X 24"H	20	\$28.00	T	\$560.00
	Candles - Led Batterie Operated Candle 9"	20	\$5.00	Т	\$100.00
		Total Addit	ions 11.11 for W	ynn	\$5,980.00
riday Night - I	Encore Hotel				
	Perimeter Drape - Emerald Green Velvet for a 116' x 180' perimeter	1	\$34,000.00	Т	\$34,000.00
	Encore Ballroom 25'H				
	Stage Backdrop - Sunburst Emerald Green Velvet Stage width is 52'6" Height is 16'H	1	\$4,500.00	Т	\$4,500.00

Description		Qtty	Price		Total
	Oversize Props - Palm Leaves painted pale gold; base and leaves	4	\$975.00	Т	\$3,900.00
	Oversize Props - Monstera Leaf Stand Oversize Props - Monstera Leaf - Curved painted pale gold; base and leaves	4	\$750.00	Т	\$3,000.00
	Oversize Props - NEW Palm Leaves painted pale gold; base and leaves	4	\$850.00	Т	\$3,400.00
	New York Sofa 8'L	4	\$500.00	Т	\$2,000.00
	COVER for NY Sofa 8'L - Emerald Green Velvet	4	\$850.00	Т	\$3,400.00
	New York Sofa Sectional Set (3pcs) Left Arm, Corner and Right Arm Sectional	4	\$1,400.00	Т	\$5,600.00
	COVER for NY Sofa Sectional (3pcs) - Emerald Green Velvet Left Arm, Corner and Right Arm Sectional	4	\$2,100.00	Т	\$8,400.00
	Frankfurt Coffee Table - Black Glass w. Gold	4	\$275.00	T	\$1,100.00
	Paris Coffee Table Base - Gold Frame	8	\$225.00	Т	\$1,800.00
<u> </u>	Paris Coffee Table Top - Black Marble Black Faux Marble	8	\$0.00	Т	\$0.00
	Berlin Serpentine Sofa (3pcs)	4	\$1,350.00	Т	\$5,400.00
	COVER for Serpentine Sofa - Taupe Velvet	4	\$1,350.00	Т	\$5,400.00
	Curvy Coffee Tables - Black Mirror w. Gold	4	\$250.00	Т	\$1,000.00
	London Accent Table - Gold Hourglass Large	4	\$150.00	Т	\$600.00
	London Accent Table - Gold Hourglass Small	4	\$115.00	Т	\$460.00
	Channeled Round Booth - Champagne Velvet (2pcs) dining table (client to provide)	6	\$650.00	T	\$3,900.00

Initial of leather, emerald green, taupe, gold and patterns and touches of leoporal plain to legal transport plain transport	Description		Qtty	Price		Total
### Cleint monogram and hashtags (ex: "Holy Schmidt") Tokyo Accent Chair - Gold Frame		mix of leather, emerald green, taupe, gold and patterns and touches of		\$30.00	Т	\$2,400.00
Tokyo Accent Chair - Gold Frame			12	\$65.00	Т	\$780.00
London Club Chair - Cranleigh 8 \$250.00 T \$2,000.00	H	•	15	\$85.00	Т	\$1,275.00
Nice Light Up Center Sectional 5'L Bar - Gold paired with (2) curved ends to create 15'L bars Nice Light Up Center Sectional 8'L Bar - Gold paired with (2) curved ends to create 15'L bars Nice Light Up Center Sectional 8'L Bar - Gold paired with (2) curved ends to create 18'L bars sandra to hand paint details Nice Light Up Curved Sectional Bar - Gold (2) paired with each center section Nice Light Up Curved Sectional Bar - Gold (2) paired with each center section Moscow Barback 43'W - Gold (3) per 15'L Bar Madrid Barback 40'W - Gold (4) per 15'L Bar Total Friday Night - Encore Hotel \$107,900.00 Saturday Ceremony - Wynn Perimeter Drape - White Chiffon w. Backing for a 82'x 140' perimeter Cistal Ballroom Heights: 24'H to Chandeliers 28'H Yalis 30'H Inside Soffit Total Saturday Ceremony - Wynn \$26,000.00	H	-	1	\$85.00	Т	\$85.00
Nice Light Up Center Sectional 8'L Bar - Gold paired with (2) curved ends to create 15'L bars Nice Light Up Center Sectional 8'L Bar - Gold paired with (2) curved ends to create 18'L bars sandra to hand paint details Nice Light Up Curved Sectional Bar - Gold (2) paired with each center section Moscow Barback 43"W - Gold (4) per 15L Bar Madrid Barback 40"W - Gold (3) per 12L Bar Total Friday Night - Encore Hotel \$107,900.00 Saturday Ceremony - Wynn Perimeter Drape - White Chiffon w. Backing for a 82" x 140" perimeter Cristal Ballroom Heights: 241 to Chandeliers 281 H Walls 30"H Inside Soffit Total Saturday Ceremony - Wynn \$26,000.00		London Club Chair - Cranleigh	8	\$250.00	Т	\$2,000.00
paired with (2) curved ends to create 18'L bars sandra to hand paint details Nice Light Up Curved Sectional Bar - Gold 8 \$850.00 T \$6,800.00 (2) paired with each center section Moscow Barback 43"W - Gold 8 \$200.00 T \$1,600.00 (4) per 15'L Bar Madrid Barback 40"W - Gold 6 \$200.00 T \$1,200.00 (3) per 12'L Bar Total Friday Night - Encore Hotel \$107,900.00 (3) per 12'L Bar Perimeter Drape - White Chiffon w. Backing 1 \$26,000.00 T \$26,000.00 (5) (2) 4'H to Chandeliers 28'H Walls 30'H Inside Soffit Total Saturday Ceremony - Wynn \$26,000.00 (5) (5) (6) (6) (6) (6) (6) (6) (6) (6) (6) (6			2	\$850.00	Т	\$1,700.00
(2) paired with each center section Moscow Barback 43"W - Gold (4) per 15"L Bar Madrid Barback 40"W - Gold (3) per 12"L Bar Total Friday Night - Encore Hotel \$107,900.00 Saturday Ceremony - Wynn Perimeter Drape - White Chiffon w. Backing for a 82" x 140" perimeter Cristal Ballroom Heights: 24"H to Chandeliers 28"H Walls 30"H Inside Soffit Total Saturday Ceremony - Wynn \$26,000.00 Total Saturday Ceremony - Wynn \$26,000.00	<u>.</u>	paired with (2) curved ends to create 18'L bars	2	\$1,100.00	Т	\$2,200.00
Madrid Barback 40"W - Gold (3) per 12'L Bar Total Friday Night - Encore Hotel \$107,900.00 Saturday Ceremony - Wynn Perimeter Drape - White Chiffon w. Backing for a 82' x 140' perimeter Cristal Ballroom Heights: 24'H to Chandeliers 28'H Walls 30'H Inside Soffit Total Saturday Ceremony - Wynn \$26,000.00			8	\$850.00	Т	\$6,800.00
Total Friday Night - Encore Hotel \$107,900.00 Saturday Ceremony - Wynn Perimeter Drape - White Chiffon w. Backing 1 \$26,000.00 T \$26,000.00 for a 82' x 140' perimeter Cristal Ballroom Heights: 24'H to Chandeliers 28'H Walls 30'H Inside Soffit Total Saturday Ceremony - Wynn \$26,000.00			8	\$200.00	Т	\$1,600.00
Perimeter Drape - White Chiffon w. Backing 1 \$26,000.00 T \$26,000.00 for a 82' x 140' perimeter Cristal Ballroom Heights: 24'H to Chandeliers 28'H Walls 30'H Inside Soffit Total Saturday Ceremony - Wynn \$26,000.00			6	\$200.00	Т	\$1,200.00
Perimeter Drape - White Chiffon w. Backing 1 \$26,000.00 T \$26,000.00 for a 82' x 140' perimeter Cristal Ballroom Heights: 24'H to Chandeliers 28'H Walls 30'H Inside Soffit Total Saturday Ceremony - Wynn \$26,000.00			Total Friday I	Night - Encore H	otel	\$107,900.00
for a 82' x 140' perimeter Cristal Ballroom Heights: 24'H to Chandeliers 28'H Walls 30'H Inside Soffit Total Saturday Ceremony - Wynn \$26,000.00	Saturday Cerer	nony - Wynn				
Total Saturday Ceremony - Wynn \$26,000.00		for a 82' x 140' perimeter Cristal Ballroom Heights: 24'H to Chandeliers 28'H Walls	1	\$26,000.00	Т	\$26,000.00
Saturday Cocktails - Wynn			Total Saturda	ay Ceremony - W	ynn	\$26,000.00
/ataiwaj vvvitano 11 jini	Saturday Cockt	tails - Wynn				

Description		Qtty	Price		Total
	Perimeter Drape - White Chiffon w. Backing for a 124' x 88' perimeter	1	\$24,750.00	Т	\$24,750.00
	Cristal Ballroom Heights: 24'H to Chandeliers 28'H Walls 30'H Inside Soffit				
	New York Bar 6'L - Off White Off White Textured Velvet with Off White Frame	4	\$950.00	Т	\$3,800.00
	New York Curved Bar 8'L - Off White Off White Textured Velvet with Off White Frame	4	\$1,250.00	Т	\$5,000.00
	Nantucket Curved Barback Ends - Off White	2	\$250.00	Т	\$500.00
	Nantucket Barback Shelves (Small) - Off White	4	\$250.00	Т	\$1,000.00
	Rome Squared Sofa - Off White Boucle	4	\$550.00	Т	\$2,200.00
	Madrid Rounded Sofa - Off White Boucle	4	\$550.00	Т	\$2,200.00
	REUSED: Paris Coffee Table - Gold MIRROR TOP	8	\$0.00	Т	\$0.00
	Rome Club Chair - Off White Boucle	8	\$275.00	Т	\$2,200.00
	Madrid Club Chair - Off White Boucle w. Wood Trim	8	\$250.00	Т	\$2,000.00
	Madrid Accent Table - Fuji Marble Top	4	\$100.00	Т	\$400.00
	Madrid Accent Table - Giusti Mirror Top	4	\$100.00	Т	\$400.00
	Accent Pillows off white boucle	48	\$30.00	Т	\$1,440.00
		Total Saturd	lay Cocktails - Wy	/nn	\$45,890.00
Saturday Recept	ion - Wynn				

Description		Qtty	Price		Total
	Perimeter Drape - White Chiffon w. Backing for a 150' x 135' perimeter	1	\$35,000.00	Т	\$35,000.00
	Cristal Ballroom Heights: 24'H to Chandeliers 28'H Walls 30'H Inside Soffit				
	Stage Backdrop - TBD Drape measurements tbd	1	\$4,500.00	Т	\$4,500.00
	Dance Floor - 40'D TBD Color	1	\$9,700.00	Т	\$9,700.00
E. No m. Ad	New York Bar 12'L - Custom Channeled Front IN Giselle Ivory Front	2	\$1,925.00	Т	\$3,850.00
	New York Bar 8'L - Custom Channeled Front iN Giselle Ivory Front	8	\$1,250.00	T	\$10,000.00
	REUSED: Moscow Barback - Gold reused from Encore hotel - friday night event	8	\$0.00	Т	\$0.00
	Tokyo Straight Barback 8'L - Gold	8	\$275.00	Т	\$2,200.00
Time	Berlin 'Donut' Table - Used with Tablecloth	8	\$450.00	T	\$3,600.00
	NEW Tablecloth for Berlin Table Ivory Velvet	8	\$1,750.00	Т	\$14,000.00
	Frankfurt Dining Chair FLAT Top - Off White Boucle paired at the rectangle tables only	150	\$25.00	T	\$3,750.00
		Total Saturday Reception - Wynn		\$86,600.00	
Additional Deta	ils				
	Perimeter Drape - White Chiffon w. Backing for hallways within the Cristal Ballroom approx 200' x 24'H	1	\$8,000.00	Т	\$8,000.00
	Cristal Ballroom Heights: 24'H to Chandeliers 28'H Walls 30'H Inside Soffit				
	Truss Covers - Friday Night	1	\$4,275.00	Т	\$4,275.00
	price and quantity approx for 475' linear feet				
	Truss Cover - Ceremony price and quantity approx for 375' linear feet	1	\$3,375.00	Т	\$3,375.00
	Truss Covers - Cocktails/After Party price and quantity approx for 800 linear feet	1	\$7,200.00	Т	\$7,200.00

Description		Qtty	Price	Total
		To	tal Additional Details	\$30,950.00
Services				
	R: Installers: Travel Tuesday	18	\$350.00	\$6,300.00
	R: Installers: Install Wednesday Wednesday 11/16	18	\$550.00	\$9,900.00
	R: Installers: Install Thursday Thursday 11/17	18	\$650.00	\$11,700.00
	R: Installers: Install Friday Friday 11/18	18	\$750.00	\$13,500.00
	R: Installers: Install Saturday Saturday 11/19	18	\$650.00	\$11,700.00
	R; Installers: Stand By	2	\$250.00	\$500.00
	R: Installers: Strike Sunday Sunday 11/20	18	\$650.00	\$11,700.00
	R: Installers: Strike Monday Monday 11/21	18	\$650.00	\$11,700.00
	R: Installers: Travel Tuesday	18	\$350.00	\$6,300.00
	Additional Movers: for (4) Days	8	\$3,500.00	\$28,000.00
	Additional Movers: Travel Days (2)	8	\$700.00	\$5,600.00
	R: Accommodations: Crew Perdiem for (8) Days	18	\$552.00	\$9,936.00
	Accommodations: Movers Perdiem for (6) Days	8	\$414.00	\$3,312.00
	Trucking: 53'L Semi	5	\$6,500.00	Г \$32,500.00
	Round Trip			
	Trucking: Rental Car (1) Week Rental TBD on Final cost and quantity needed	6	\$1,650.00	Г \$9,900.00
	R: Manager: Onsite for (7) Days	2	\$8,400.00	\$16,800.00
	R: Manager: Onsite for (5) Days	1	\$4,750.00	\$4,750.00
	R: Manager: Perdiem for (7) Days	2	\$483.00	\$966.00
	R: Manager: Perdiem for (5) Days	1	\$345.00	\$345.00
	R: Manager Airfare (Round Trip)	3	\$1,090.00	\$3,270.00
	Certification: Flame Proofing Fabric	1	\$15,000.00	\$15,000.00
	Certification: Flame Proofing Materials	1	\$20,000.00	\$20,000.00
	Supplies: Misc	1	\$15,000.00	\$15,000.00
	Subrental: Traveler Tracks ***CLIENT/HOTEL TO PROVIDE ALL FUNCTIONING TRACKS NEEDED***	3	\$0.00	\$0.00
	Equipment: Scissor Lifts for both the wynn and encore; hotel did NOT order lifts as requested and Revelry was not allowed to use onsite equipment	12	\$1,250.00	\$15,000.00
	Custom Artwork: Hand Painting	1	\$1,200.00	\$1,200.00

Description	Qtty	Price	Total
Dance Floor: Delivery & Labor	1	\$1,600.00	\$1,600.00
Dance Floor: Trucking	1	\$1,400.00	\$1,400.00
Please make checks payable to Revelry, Inc.		Total Products:	\$303,320.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total La	bor/Services/Misc:	\$267,879.00
Please ready the contract and sign it	Ta	axes (tax excempt):	\$0.00
·		Discounts:	(\$6,511.50)
Notes		Total:	\$564,687.50
		Payments:	(\$542,575.00)
		Balance:	\$22,112.50